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Walk-Through:  2-grp Multivariate Analyses     data set   socskills1.sav 

Other than examples from textbooks, few of the analyses you do will be single, isolated analyses of a data set that includes just two variables.  More often you will be presented with a multivariate data set and a set of research questions and/or hypotheses.  On these occasions, you must begin by identifying the particular variables that are involved in each analysis – remember, sometimes it might be necessary to recode your data or select only the data that will be helpful.  But be careful, a simple-sounding RH: might involve multiple analyses, and the type of means comparison (BG or WG) that is appropriate might not be obvious.  Let's play…

Data were collected from participants in a 6-week social skills-building class.  Pretest data were obtained during the first meeting and Posttest data were obtained during the last.  Look at the nine variables in the database. Which look like grouping variables (IVs) for a between groups design?  Which look like part of a repeated-measures design?



Below are 2 research hypotheses & a “group equivalence check” question posed by the researcher:
· Tell the means, std, F-test info, p, & effect size for each.
· Consider how the p-value and effect-size results “mesh” (i.e., any NHST results you should be cautious about?)
· For each RH: tell whether it was completely, partially or not supported.  
· For the interpretative analysis, tell how you would change your interpretation of the related hypothesis tested by the other F-tests.


RH:#1   One of the questions addressed by this research is whether the treatment (all participants received the same  	 treatment) would improve the different types of social skills.  The related RH: was, "There will be pretest-		 posttest improvement on each of the three social skills measures."

Type of design/ANOVA ?                  IV  ?                   DV  ?                       

Variables used in the analysis 



Self-report         PRE  mean                std                  POST  mean            std        
 F=         df =     ,       MSe =            p =         r =          p & r “match” ?               


Role-playing     PRE  mean                std                  POST  mean            std        
F=         df =     ,       MSe =            p =         r =          p & r “match” ?               


Observation      PRE  mean                std                  POST  mean            std        
F=         df =     ,       MSe =            p =         r =          p & r “match” ?               


RH: was (circle one and explain briefly below)   fully supported   partially supported   not supported


RH #2:   A second issue revolved around whether people who sought treatment for different reasons got different amounts of "help" from the program.  The related RH: was,  "Those who sought treatment because they feel they have deficient social skills will have better posttest scores on the three social support measures than those who sought treatment to increase their already adequate skills."

Type of design/ANOVA?               IV ?                      DV  ?                       



Self-report        deficient   mean                std                 Improve    mean            std        
 F=         df =     ,       MSe =            p =         r =          p & r “match” ?               


Role-playing     deficient   mean                std                 Improve    mean            std        
F=         df =     ,       MSe =            p =         r =          p & r “match” ?               


Observation      deficient   mean                std                 Improve    mean            std        
F=         df =     ,       MSe =            p =         r =          p & r “match” ?               


RH: was (circle one and explain briefly below)   fully supported   partially supported   not supported








Group Equivalence Check:  The comparison of the two groups involved in RH:#2 makes more sense if these two groups have equivalent pretest scores on each of the measures. Check it out…

Type of design/ANOVA ?                 IV ?                    DV  ?                     

                        
Self-report         PRE deficit    mean                std                 PRE increase  mean            std        
 F=         df =     ,       MSe =            p =         r =          p & r “match” ?               


Role-playing     PRE deficit    mean                std                 PRE increase  mean            std        
F=         df =     ,       MSe =            p =         r =          p & r “match” ?               


Observation      PRE deficit    mean                std                 PRE increase  mean            std        
F=         df =     ,       MSe =            p =         r =          p & r “match” ?               



Based on these analyses, how would you change the interpretation you gave for RH:#2 analyses just above?







Would a true experiment with proper randomization solve this “problem”?  Why or why not?

Your Turn – complete the appropriate analyses for each of the following and write each up using the format 	         shown in the handouts – be sure to include a figure or a table for each.  

"Clinical1" Database


[bookmark: _Hlk112571184]RH#1: People raised in urban neighborhoods report less social support from family, significant others and from friends than do people raised in rural neighborhoods

Type of design/ANOVA               IV                       DVs                         

Variables used in the analysis                               &                        


DV        	Family      Urban   mean        std                    Rural    mean   std      

F=         df =     ,       MSe =            p =         r =          p & r “match” ?               


DV             	Sig. Oth.      Urban   mean        std                    Rural    mean   std       

F=         df =     ,       MSe =            p =         r =          p & r “match” ?               


DV             	Friend      Urban   mean        std                    Rural    mean   std       

F=         df =     ,       MSe =            p =         r =          p & r “match” ?               


RH#1: was (circle one and explain briefly below)   fully supported   partially supported   not supported








RH#2:  Married people who grew up in rural neighborhoods report higher social support from their family than from their friends.

Type of design/ANOVA                 IV                       DV                         

Selection variable(s)?                    Selection values?


DV        	Family       mean        std                    Friends    mean     std

F=         df =     ,           MSe =            p =            r =             p & r “match” ?               




RH #2: was (circle one and explain briefly below)   fully supported   partially supported   not supported


"Juvenile Delinquent" Database


RH#1:  Those receiving this treatment (all in the database) show improvements from the 1st to the 6th month, whether one looks at property damage (pd), sexual acting out (sa), or extreme verbal abuse (va).

Type of design/ANOVA             IV                       DVs                         


DV  Property Damage         	1st month    mean                std                 6th month  mean            std        
	
             			F=         df =     ,       MSe =            p =         r =          p & r “match” ?               


DV  Sexual Acting Out         	1st month    mean                std                 6th month  mean            std        
              
F=         df =     ,       MSe =            p =         r =          p & r “match” ?               


DV Extreme Verbal Abuse         	1st month    mean                std                 6th month  mean            std        
            
 F=         df =     ,       MSe =            p =         r =          p & r “match” ?               


RH#1: was (circle one and explain briefly below)   fully supported   partially supported   not supported











RH#2:  Those who were 16 or younger showed greater six month physical aggression scores than those who were 17 or older.

Type of design/ANOVA                 IV                       DVs                         

Do we need to make a new variable for this analysis?                               What variable?



DV  6th mo. Physical Aggression         16 or less    mean                std                 17 or more  mean     std       

F=         df =     ,           MSe =            p =            r =             p & r “match” ?               


RH#2: was (circle one and explain briefly below)   fully supported   partially supported   not supported
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